











ARC FEET

SMALL MEDIUM LARGE
STYLE A STYLE B STYLE C
NELSON NS-30 BANTAM A-38 CD FOOT
STYLE D STYLE E STYLE F
STANDARD CLOSED FEET
GUN TYPE |STUD SIZE| STYLE | PART NO.
PRO-WELD INT. | 1/8-1/2 A B-1N
NELSONNS-20 | 1/8-1/2 A B-1N
NELSONNS-30 | 1/8-1/2 D B-6N
PRO-WELD INT. | 5/8-3/4 B B-2N
NELSONNS-20 | 5/8-3/4 B B-2N
NELSONNS-30 | 5/8-3/4 D B-7N
PRO-WELD INT. | 7/8-1 C B-3N
NELSONNS-20 |  7/8-1 C B-3N
BANTAMA-58 1/8-1/2 E B-4N
BANTAMA-58 5/8-3/4 E B-5N
PRO-WELD INT. | 1/8-3/8 F 028-833

* All measurements in inches




ARC FEET

SMALL MEDIUM LARGE
STYLE A STYLE B STYLE C

<>
o )

N

N\

NELSON NS-30 BANTAM A-58

STYLE D STYLE E
STANDARD SPLIT FEET

GUN TYPE |STUD SIZE| STYLE PART NO.
PRO-WELD 1/8-1/2 A B-1C
NELSON NS-20 1/8-1/2 A B-1C
NELSON NS-30 1/8-1/2 D B-6C
PRO-WELD 5/8-3/4 B B-2C
NELSON NS-20 5/8-3/4 B B-2C
NELSON NS-30 5/8-3/4 D B-7C
PRO-WELD 7/8-1 C B-3C
NELSON NS-20 7/8-1 C B-3C
BANTAMA-58 1/8-1/2 E B-4C
BANTAM A-58 5/8-3/4 E B-5C

* All measurements in inches

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com




ARC WELD THRU DECK FOOT
ASSEMBLY

ARC WELD THRU DECK FERRULE
HOLDER

WELD THRU DECK FOOT

WELD THRU DECK FERRULE

ASSEMBLY
PART NO. DESCRIPTION
B-0021 FOOT ASSEMBLY
B-0021-1 FOOT ONLY
B-0021-2 EXT. BAR
SCREWS 1/4-20 x 1"

ARC REFRACTORY FERRULE FOOT
PLATE

HOLDER
PART NO. DESCRIPTION
B-0060-1 3/4” WTD & 7/8” FLAT
B-0060-2 3/4” FLAT
B-0060-3 5/8” FLAT
B-0060-4 1" FLAT & 7/8” WTD
B-0060-5 1/2" FLAT
SCREWS 10-32 x 1/2”

ARC HEAVY DUTY FERRULE GRIP

HEAVY DUTY FERRULE GRIP

REFRACTORY FERRULE FOOT
PLATE
PART NO. STUD DIA.
QY-025 3/16-1/4

* All measurements in inches

PART NO. STUD DIA.
GH-050 1/2
GH-062 5/8
GH-075 3/4
GH-087 7/8

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com

47



—

ARC ACCESSORIES

D —
——

| il
- 2.1/2"

MALE CHUCKS

E
L L

Q ) ong)

;'
Lo |

STANDARD ADJUSTABLE LEGS

STUD DIA. PART NO.
8-32 CX-008-32
10-32 CX-010-24
1/4-20 CX-025-20
5/16-18 CX-031-18
3/8-16 CX-037-16
1/2-13 CX-050-13
5/8-11 CX-062-11
3/4-10 CX-075-10
1/4 CX-025
3/8 CX-037
1/2 CX-050
5/8 CX-062

LENGTH DIA. PART NO.
7 5/16 L-03107
9 5/16 L-03109
14 5/16 L-03114
12 3/8 L-03712
14 3/8 L-03714
18 3/8 L-03718
24 3/8 L-03724
27 3/8 L-03727
32 3/8 L-03732
36 3/8 L-03736
48 3/8 L-03748
5/16 LEG WASHER LW-031
3/8 LEG WASHER LW-037
5/16 LEG SCREW LS-031
3/8 LEG SCREW LS-037

BENT STUD CHUCKS

Y ANCHOR CHUCKS

ANCHOR SIZE PART NO.
3/16 CY-018
1/4 CY-025

STUD DIA. BEND PART NO.
3/8 90° CB-037-90
3/8 45° CB-037-45
1/2 90° CB-050-90
1/2 45° CB-050-45
5/8 90° CB-062-90
5/8 45° CB-062-45
3/4 90° CB-075-90
3/4 45° CB-075-45

* All measurements in inches

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com 48




CONTROL CABLE CONNECTOR

PANEL MOUNT FEMALE
CONTROL CABLE CONNECTOR
PART NO. DESCRIPTION
107-0014 MALE 4 POLE CONNECTOR
107-0015 FEMALE 4 POLE CONNECTOR
107-0001 PANEL MOUNT CONNECTOR

NELSON STYLE 2 WIRE CONNECTOR

MALE PANEL MOUNT FEMALE

MALE COVER FEMALE COVER

NELSON STYLE 2 WIRE CONNECTOR

PART NO. DESCRIPTION

107-0016 2 WIRE MALE CONNECTOR
107-0017 2 WIRE FEMALE CONNECTOR
107-0018 2 WIRE PANEL MOUNT CONNECTOR

107-0016C MALE RUBBER COVER
107-0017C FEMALE RUBBER COVER

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com




PANEL MOUNT CAMLOK CONNECTOR

PANEL MOUNT CAMLOK CONNECTOR

PART NO. DESCRIPTION
107-0003 MALE PANEL MOUNT
107-0002 FEMALE PANEL MOUNT

ACCESSORIES

=\

ACCESSORIES

PART NO. DESCRIPTION
102-0041 ALLEN WRENCH SET
102-0042 CHUCK EJECTOR KEY

WELD CABLE LUGS

ACCESSORIES
PART NO. DESCRIPTION
123-0003 #4 W/ #10 HOLE
123-0001 #1 W/ #10 HOLE
123-0006 #1 W/ 1/4 HOLE
123-0002 #1 W/ 3/8 HOLE
123-0008 1/0 W/ 3/8 HOLE
123-0009 1/0 W/ 1/2 HOLE
123-0010 4/0 W/ 1/2 HOLE

* All measurements in inches

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com




HEAVY DUTY HI TEMP CAMLOK

HEAVY DUTY HI TEMP CAMLOK

PART NO. DESCRIPTION
107-0006 4/0 MALE HI TEMP
107-0007 4/0 FEMALE HI TEMP

LIGHT DUTY CAMLOK CONNECTOR

LIGHT DUTY CAMLOK CONNECTOR
PART NO. DESCRIPTION
107-0010 1/0 MALE FIBER SHELL
107-0011 1/0 FEMALE FIBER SHELL
107-0012 4/0 MALE FIBER SHELL
107-0013 4/0 FEMALE FIBER SHELL

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com




CAPACITOR DISCHARGE ACCESSORIES
COLLET INSERTS (For Weld Studs) COLLET INSERTS (For Weld Pins)

IR DN : "
COLLET INSERTS (For Weld Studs) COLLET INSERTS

STUD DIA. X DEPTH" PART NO. STUD DIA. X DEPTH" PART NO.

#4 X 1/4 CI-010-025 12GA X 1/2 CIP-010-050

#4 X 3/8 CI-010-037 12GA X 3/4 CIP-010-075

#4 X112 CI-010-050 12GA X 1 CIP-010-100

#4 X 1 CI-010-100 10GA X 1/2 CIP-013-050

#6 X 1/4 CI-013-025 10GA X 3/4 CIP-013-075

#6 X 3/8 Cl-013-037 10GA X 1 CIP-013-100

#6 X 1/2 CI-013-050

#6 X 1 CI-013-100

#8 X 1/4 CI-015-025

#8 X 3/8 Cl-015-037 B COLLETS

#8 X 1/2 CI-015-050

#8 X 1 CI-015-100 \L

#10 X 1/4 CI-018-025 ——

#10X 3/8 CI-018-037 3/8” DIA E—'_%

#10 X 1/2 CI-018-050 T

#10 X 3/4 CI-018-075 L_ ia /8,”_»]

#10 X 1 CI-018-100

1/4 X 1/4 CI-025-025

1/4 X 3/8 CI-025-037 B COLLETS

1/4 X 112 CI-025-050 STUD DIA. X DEPTH" PART NO.

1/4 X 3/4 CI-025-075 14GA CDB-008

1/4 X 1 CI-025-100 12GA & #4 CDB-010

5/16 X 3/8 CI-031-037 1/8 CDB-012

5/16 X 1/2 CI-031-050 10GA & #6 CDB-013

5/16 X 5/8 CI-031-062 #8 CDB-015

5/16 X 3/4 CI-031-075 #10 CDB-018

5/16 X 1 CI-031-100 215 CDB-021

3/8 X 1/2 CI-037-050 1/4 CDB-025

3/8 X 3/4 CI-037-075 5/16 CDB-031

3/8 X 1 CI-037-100 3/8 CDB-037

* All measurements in inches

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com

52



MAGNETIC CHUCK

PART NO. DESCRIPTION

035-031 COMPLETE ASSEMBLY

017-633 MAGNET ONLY

029-615 CONDUCTOR PLATE

039-609 INSUL. TUBE

039-610 INSUL. DISC.

SCREW 10-32 X 7/8”

B COLLET PROTECTORS
PART NO. DESCRIPTION
028-837 14 GA. & 12 GA.
028-838 10 GA.
028-836 BODY ONLY
028-834 12 GA. INSERT
028-835 10 GA. INSERT
B STOPS
PART NO. STUD LENGTH”
033-781 1/4
033-782 3/8
033-783 1/2
033-784 5/8
033-785 3/4
033-775 7/8
033-776 1
033-777 11/8
033-778 11/4
033-779 1 3/8 (SHORT BUTTON STOP)
033-780 UNIVERSAL

* All measurements in inches

CAPACITOR DISCHARGE
ACCESSORIES

@ |

SHORT BUTTON STOP

®

UNIVERSAL B STOP

=

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951

215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com 53



CAPACITOR DISCHARGE ACCESSORIES

3/8” DIA.

STANDARD SPARK SHIELD

B-CI ADAPTOR
PART NO. DESCRIPTION
044-082 7/8" LONG
033-746 19/16” LONG

PART NO. DESCRIPTION
033-764 1/4 GA - #6
033-765 #8-3/8

.—__-
———

_—-—_-—'.@

3/8” DIA.

G‘

]

&

VENTED SPARK SHIELDS

A-B  ADAPTOR

PART NO.

039-467

SERPRN

PART NO. DESCRIPTION
033-769 14 GA-10 GA.
033-769L #6-3/8

B-N ADAPTOR

PART NO.

039-468

TEMPLATE TUBE ADAPTOR

LD

TEMPLATE 1.D.” PART NO.
1 DIA. 039-839
11/4 DIA. 039-840

Y

ARC
TAPER

__eg‘_i

e |

ADAPTORS
PART NO. 1.D.”
044-083 (3/8 ID) N-B
044-084 (1/4 1D) N-CI

* All measurements in inches

Q{g)b

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com

54



CAPACITOR DISCHARGE ACCESSORIES
NELSON STYLE COLLETS

3/8" Dia. @‘E—:‘
| 2-3/8"Length

NELSON STYLE COLLETS
PART NO. STUD SIZE”
CDBN-013 #6
CDBN-015 #8
CDBN-018 #10
CDBN-025 1/4
CDBN-031 5/16

NOTE* METRIC SIZES ADD $2.00

ADJUSTABLE STOPS FOR ABOVE

]
ADUSTABLE STOPS FOR ABOVE
PART NO. STUD LENGTH”

500-017017 1/4 TO 5/8
500-017018 3/4TO11/8
500-017019 11/4TO 15/8
500-017020 13/4TO21/8
500-017025 INSULATOR ONLY

KSM/ERICO AIR COLLETS

7/16” ( :ﬂ

| e |

KSM/ERICO AIR COLLETS
PART NO. STUD DIA.”
016-412 #4 (112)
016-415 #6  (.138)
016-416 #8  (.164)
016-684 #10  (.189)
016-418 1/4  (.250)

* All measurements in inches

EASTERN SALES SERVICES, INC. | 2500 MILFORD SQUARE PIKE, QUAKERTOWN, PA 18951
215.529.5439 toll free: 888.276.7045 | www.easternsalesinc.com | sales@easternsalesinc.com

55





